<?xml version="1.0"?7>
<report>
<agency>NLRB</agency>
<generated>2013-02-01 14:31:08</generated>
<items>
<item id="1">
<parent/>
<text>Reporting Quarter</text>
<due/>
<due_date>2012/10/15</due_date>
<fields>
<field>
<type>select</type>
<name>2-1-year</name>
<label>Reporting Year</label>
<options>
<option>
<label>2011</label>
<value>2011</value>
</option>
<option>
<label>2012</label>
<value>2012</value>
</option>
<option>
<label>2013</label>
<value>2013</value>
</option>
</options>
<value>2013</value>
<[field>
<field>
<type>select</type>
<name>2-1-quarter</name>
<label>Repoeting Quarter</label>
<options>
<option>
<label>Q1</label>
<value>Q1</value>
</option>
<option>
<label>Q2</label>
<value>Q2</value>
</option>
<option>
<label>Q3</label>
<value>Q3</value>
</option>
<option>
<label>Q4</label>
<value>Q4</value>
</option>
</options>



<value>Ql</value>
</field>
</fields>
<multiple/>
</item>
<item id="1-1">
<parent>1</parent>
<text>Ten Oldest Requests</text>
<due/>
<due_date>2012/10/15</due_date>
<fields>
<field>
<type>select</type>
<name>2-1-1-oldest</name>
<label>Ten Oldest</label>
<options>
<option>
<label>0</label>
<value>0</value>
</option>
<option>
<label>1</label>
<value>1</value>
</option>
<option>
<label>2</label>
<value>2</value>
</option>
<option>
<label>3</label>
<value>3</value>
</option>
<option>
<label>4</label>
<value>4</value>
</option>
<option>
<label>5</label>
<value>5</value>
</option>
<option>
<label>6</label>
<value>6</value>
</option>
<option>
<label>7</label>
<value>7</value>
</option>
<option>
<label>8</label>
<value>8</value>
</option>
<option>
<label>9</label>



<value>9</value>
</option>
<option>
<label>10</label>
<value>10</value>
</option>
</options>
<value>10</value>
<[field>
</fields>
<multiple/>
</item>
<item id="1-3">
<parent>1</parent>
<text/>
<due/>

<due_date>2012/10/15</due_date>

<fields>
<field>
<type>select</type>

<name>2-1-3-closed</name>
<label>Ten Oldest Closed</label>

<options>

<option>
<label>0</label>
<value>0</value>

</option>

<option>
<label>1</label>
<value>1</value>

</option>

<option>
<label>2</label>
<value>2</value>

</option>

<option>
<label>3</label>
<value>3</value>

</option>

<option>
<label>4</label>
<value>4</value>

</option>

<option>
<label>5</label>
<value>5</value>

</option>

<option>
<label>6</label>
<value>6</value>

</option>

<option>
<label>7</label>
<value>7</value>



</option>
<option>
<label>8</label>
<value>8</value>
</option>
<option>
<label>9</label>
<value>9</value>
</option>
<option>
<label>10</label>
<value>10</value>
</option>
</options>
<value>10</value>
</field>
<[fields>
<multiple/>
<[/item>
<item id="1-2">
<parent>1</parent>
<text>FOIA Requests Information</text>
<due/>
<due_date>2012/08/21</due_date>
<fields>
<field>
<type>text</type>
<name>2-1-2-component</name>
<label>Component</label>
<options/>
<value>
<value>NLRB</value>
</value>
<[field>
<field>
<type>text</type>
<name>2-1-2-received</name>
<label>Received</label>
<options/>
<value>
<value>1415</value>
</value>
<[field>
<field>
<type>text</type>
<name>2-1-2-processed</name>
<label>Processed</label>
<options/>
<value>
<value>1384</value>
</value>
</field>
<field>
<type>text</type>



<name>2-1-2-backlog</name>
<label>Backlog</label>
<options/>
<value>
<value>25</value>
</value>
<[field>
</fields>
<multiple>1</multiple>
<[/item>
</items>
<year>2013</year>
<quarter>Q1l</quarter>
<[report>



